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10.. Allen's new iBook depreciates at a rate of 48% every 3 years. If it is worth $1540, how much will
it be worth in 5 years? 27...a.. Plot the points (0, 1), (1, 3), 2, 2), (3, 3), (4, 5) and (7, 3) on the graph below.

%4
>/= "/570(/ =2 ‘/3> = /& sr7. 8¢ i I S J I by Flndtheh()mlerofgraviry(mark it on the
E; N < grap

X:0#/e2 3+ 7 = 17%6:2.83

‘11.‘ Rose’s truck depreciates at a rate of 37% every 4 years, He wants to sell it whe n it is worth 25% of b r . - = 6z
its original price. How long should Rose wait from th:day he bou;:tﬂwcarltov;eﬁ ul? o ¢ - Jile3sae3sbes (7 =eir2. 88
5 *¢ /p .25 X
{5 4(1l=. 37 7 S > . Drow he e ofbst it g 01
the COC.
%, é3
.25 =.637 727 > ,7
S.000f v )(‘/Zyg-rs
12.. The half-life of a certain radioactive element is 312 years. If you have a 84 gram sample now, .
2... how much did you have 1000 years ago? b.. how long will it ‘ﬂki; have only 20 grams? d.. Find the average rate of change from x = 0 to x = 4 for the data above.
~ 100, —_— &verage rate of change
v 5‘/(5‘) S 20 ;—s_y(g) B> /,2.235/;5 sLopE! vy 5-/ o e
BY (13 = Jog . S 30 L = _,-———;-—Z/{
= Gr> Xx-Xx -0 7
.238/=_§ X445, 9 yrs
o 22 / 28.. A sample of bacteria invades Allen’s soul. It triples every 20 minutes. If there are 1200 now...
5 i i 7 i
3100 = 8567 14, 7" = 5555 15. 4 =29 16..3"= 84 7 How many =l my;,b:')n 2 hourst ::::he;:'o“ m:”z?:‘?:}n 09 94.6"
Ly 2 - _ 286, == T ==
fog 8567 2 X |/ s;s - x _/,_";757’_ =X _/2_21 s x y: /200 ('3) — = "L_/,js .
x=3.9328 | Y 9 66se7 =3
_______ x = 4931 X =2.1290 X = 4.033( = 877, 890 bacteris 4 x=/.83
17.. log1000 = x 18.. logx =5 19.. log, 64 = 3 20.. log, 599 = x hours /
£ . 3z 59 e
x=> /o =X x* =67 rog %7 26. Find the value of x. SOH+ CAH *TOA | 30. Find the value of x. <SS = cesthes
i o9 8 Lo
B & oe3f = = )
X = /00, 000 XA 2 30755 . cos3Y sl .
21.. € = 100,000 22.Inx=42 23. ¥ =570 24, €= 177 1 < x 5
LA 00,0002 x | et s x LANST0 =.2% {/N/.77= 03X il 053y’ 8% 10>417 ‘—;(,e)/n)casx
=/1.512 . = - 4y =389 ~370 cos X
X 2115127 { x=(468631 X =3/.73 x=08.9/87 X ,_f/_;,;ﬂ 325 - 30 cosX
5.. Convert log, Y = x to exponential form. 26., Convert ¢ = F to log form. . 9559 = cos X X 5/ 17.08
31.. Dado el ecuaci 5 _ 4 donde estin los asymptotos?
. i 6n y=—— -
A" = 7 /oje F=x . x+3

x#é-3 y#-1

€
32.. The population of Ridegewood, NJ is currently 24,100 and is growing al a continugus rate of 0.9%
N

every year.
2. What will the population reach is 20 years?

(.oo,xu)

b.. When will the population reach 50,0007

009 x
> (00 €
s0,000 = 24,
24,00 Y, 100
L0069 X
2.0797 = €

(N2.079Z > ooPX
x =/8/.09 years|
33.. Graph y=3un%(x+l)42 over the domain -5 SxS15. amp : 2
per
slfffs *
L/
D >

y'-Z‘i'IOO(e)

NEXT POINT

ple =
vfp >

<x5360°. For each list

. P
34.. Find the value(s) of @ to satisfy the following equations with the domain 0
the reference angle, quadrant and value(s).
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